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1	Introduction
RAN2 had initial discussion for LBT impact on SL resource selection in RAN2#120. In this contribution, we would like to have following discussion to make progress on the issue.  
2	Discussion
RAN2 had initial discussion for LBT impact on SL resource selection based on [1]. Nothing was agreed but the question whether MAC takes care LBT impact in the SL resource selection procedure or PHY takes care LBT impact in the SL candidate resource selection procedure was raised as follow [2]. 
	Proposal 1: RAN2 should investigate the interaction of channel access procedure with resource allocation mode 1 and 2 in order to avoid resource allocation which may cause LBT failures, e.g.: 
	a) before a reserved resource in case the transmitting symbols of candidate resource overlap with LBT of the reserved resource;
b) after a reserved resource in case the transmitting symbols of the reserved resource overlap with LBT of candidate resource.

· Noted.

[Apple]: Alternative option would be to consider them in the candidate resource selection procedure in PHY. Why MAC should do that? [Qualcomm]: It would be good to leave it to PHY because all detailed parameters are known to PHY. [IDC]: Share the view with Qualcomm. [Ericsson]: Similar issue is discussed in RAN1.

We think the raised question is fundamental to identify RAN2 and RAN1 jobs. In our view, PHY should take care case a) in the SL candidate resource selection procedure since it is to avoid between its own candidate resources and other UEs’ reserved resource. Note MAC only knows its own candidate resources and does not know other UEs’ reserved resource. However, for case b) MAC should take care it in the SL resource selection procedure out of SL candidate resources since MAC selects the resource and whether a candidate resource can be impacted by LBT or not is dependent on which resource was selected for earlier transmission. If PHY does that, PHY should inform a chain of candidate resources for each case assuming when a certain candidate resource is selected by MAC, which is very complicated.
[Proposal 1]: L1 handles LBT impact to/from other UEs’ reserved resources in SL candidate resource selection.
[Proposal 2]: MAC handles LBT impact from its own selected resource in SL resource selection. 
[Proposal 3]: RAN2 is asked to send an LS for RAN1 confirmation. 
3	Conclusion
We have further discussed the LBT impact on SL resource selection and made the following proposals.  
[Proposal 1]: L1 handles LBT impact to/from other UEs’ reserved resources in SL candidate resource selection.
[Proposal 2]: MAC handles LBT impact from its own selected resource in SL resource selection. 
[Proposal 3]: RAN2 is asked to send an LS for RAN1 confirmation. 
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